
  TKKA-högskåp

  TKKA-korkea kaappi

Asennusohje versio 1/2011

Monteringsanvisning version 1/2011



Osaluettelo

Nimike Määrä kpl

Asennusohje 1

Suora ovi 1

Komeron sivu 2

Komeron ala- ja yläpohja 2

Komeron hylly 4

Komeron taustalevy 1

Sidelista 3

Tukilista 1

Välisoiro 636 x 100 x 16 mm (TKKA-kaapin ja allaskaapin väliin) 1

Hyllynkannatin 5 mm, valkoinen 16

Minihela 15 14

Minihelapultti 15 14

Liimatuubi 15 g 1

Sarana 3

Saranan aluslevy 3

Saranan vaimennin 1

Ruuvi uppokanta saranoihin 3,5 x 13 mm 6

Nuppivedin 1

Tankovedin 1

Vedinruuvi matala 4 x 20 mm 2



Delförteckning

Artikel Antal st.

Monteringsanvisning 1

Slät lucka 1

Skåpets sida 2

Skåpets undre och övre plan 2

Hylla 4

Skåpets bakstycke 1

Förbindningslist 3

Stödlist för väggmontering 1

Passbit 636 x 100 x 16 mm (mellan TKKA-skåpet och underskåpet) 1

Hyllbärare 5 mm, vit 16

Kopplingsbeslag 15 14

Kopplingsskruv 15 14

Limtub 15 g 1

Gångjärn 3

Gångjärnets motstycke 3

Gångjärnsdämpare 1

Gångjärnsskruv 3,5 x 13 mm 6

Knopphandtag 1

Stånghandtag 1

Handtagsskruv 4 x 20 mm 2



 





















 

 

 



























 





 









″CLICK″ ″CLICK″



































″CLICK″






 


















SARANOIDEN ASENNUS JA SÄÄTÖ
MONTERING OCH JUSTERING AV GÅNGJÄRN
INSTALLATION AND ADJUSTMENT OF HINGES

IRROITUS/LOSSNING/DETACHMENT

OVIEN SÄÄTÖ/JUSTERING AV LUCKOR/ADJUSTMENT OF DOOR



SARANOIDEN ASENNUS JA SÄÄTÖ
MONTERING OCH JUSTERING AV GÅNGJÄRN
INSTALLATION AND ADJUSTMENT OF HINGES

IRROITUS/LOSSNING/DETACHMENT

OVIEN SÄÄTÖ/JUSTERING AV LUCKOR/ADJUSTMENT OF DOOR

Soft-close CS

Bei der Verarbeitung der Möbelbeschläge sind die Vorgaben von Mepla-Alfit aus den gültigen Verkaufsunterlagen genau 
zu beachten, da sonst keine Haftung übernommen werden kann. Werden weiterführende Informationen zu Einbau und 
Montage benötigt, dann wenden Sie sich bitte direkt an eines unserer Werke.
Wir danken für Ihr Verständnis.

The installing of our furniture fittings must comply with the Mepla-Alfit instructions that are stated in our available
sales brochures, otherwise Mepla-Alfit can’t be held liable. If further information on installation and assembly is needed,
please contact one of our factories directly.
Thank you for your understanding.

www.mepla-alfit.com 

1
8

-2
2

 k
g

4
-5

 k
g

9
0
 x

 6
0
 c

m

6
-9

 k
g

1
6
0
 x

 6
0
 c

m

1
3

-1
7

 k
g

2
2
0
 x

 6
0
 c

m 2
5
0
 x

 6
0
 c

m

Position für zusätzlichen Soft-close (falls erforderlich)
Position for additional Soft-close (if required)

Position für Soft-close
Position for Soft-close



Temal Oy
PB 74, Tehtaankatu 2
FI-04401 Järvenpää
Tel. +358 10 217 2313
fax +358 10 217 2303
www.temal.se

Temal Oy
Tehtaankatu 2
04400 Järvenpää
Puh. 010 217 2300
Fax 010 217 2301
www.temal.fi

KALUSTEET 5 CM VÄLEIN

™

MÖBLER MED 5 CM INTERVALL

™


